5 1 30 FI B VR O PO 2%

I URET S HBOM S “ZIRFE” W I https://www.icourses.cn db

HHEE K F G I Moo (555 R84 1.7 7. 1.8 4.
1.10 A0 2.8 77 (BUMG/RIE TV K22 H) MoocC (55 5 &
i) 7.177.5 1) BN, FERMHEM 5.1 F~5.3 THHS,
T S B i S T i)

WL (4 2 O [R5 2

R IR P R A FEAELT 51 T (R G R A A

BTG R 1) au (o) 3 T8 a AR R 7T A4 Al ) L v 2

At AT LA B FEAE A 5 SR AL AR (EAS 5 R R TR P41 ?
0T AT 1E 5% 5 41 1D A 2

BN (5 S OE R4S R e, RAERIKEHIRES? A4

A R 1) 22 53 G i) 2532

ASHUL S AT () 2R 0 (45 R L B A g B B 2

AART SR A4t P9 HCHST 1] 3R 0 4 5 UK A AL i 2

2 52 I T 28 48 00 2 A\ i) SR R A 1 L 2
. URATZERUT R85> :

(D a%ﬂ?ﬂx(n)=sinj—71[n , SKE R B

(2) E%ﬂ?ﬂx(n):Acos(f—lfm—%j, REHAN .

(3) f5'5x(n)=sin(0.4n) 25N HES?



(4) EH x(n)={ 1,2,3,4,5,6,7} j%x(znﬁnx(ﬁo

n=0

(5) HHINN KGRI ZED T

(6)

(7)

Rt =7k £or7r42 yn)-5yln—1)+6y(n-2)=0
E4p(0)=2, y(1)=1.

(8)
y(n)+2y(n—l) — 5u(n)

H y(—l):l }*éﬁgﬁ

(9)

LTISé £ 97 4% y(n.)+3y(n—l)+2y(n—2) = x(n)+x(n—1)

t’_.%ﬂv(n) = (—2)" u(n.) B, »(0)=»(1)=0.
R EZ G RN E,




